C:h Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.

b 189 x 31 = 2) 633 x 58 =

Answers

/ 7 7 7 7 ’ ’ 7 7
/ ’ / ’ ’ ’ / ’ /
s 7 7 4 7 7 4 4 2.
s 7 s / ’ 7 7 7 s
7 /s s / ’ s 7 ’ s
4 7/ 7 4 7
4 7/ 7/ // 4 // // // 4 // // //
/7 7 7 V2 4 7/ 7/ ya / 7 Vi 3
s s s, 7 s , ’ /s , .
7 s ’ 7 7 , 7 s s,
s 7 , s 7 , / 7 ,
s s , 7 s , s s Vs
s s s 7 s y Ve s
4.
5.
254 x 35 = 186 x 28 = 390 x 84 =
6.
s s s s s s 7 s s
/ 7 / ’ / / ’ / /
’ ’ ’ ’ 7 /s ’ /
’ ’ , ’ ’ ’ ’ , , 7.
4 7 s 4 s s 4 7 7
4 7/ 7/ 4 7
/ 7/ 7/ ,/ 4 // // // 4 // // //
4 7/ 7/ s’ 4 / 7 ’ 4 e y
7 7 , / s ’ 7 7 , 8
s 7 y s s , s s , .
s 7 , s / P 7 / ,
7 7 y / / y 7 7 ,
7 s y 7 s Vs 7 7
9.
10.
) 305%37= ) 493 % 91= ) 348 20=
11.
/ 7 7 7 / / ’ 7 7
/ ’ ’ ’ / / / ’ ’
// // // // // // // , //
4 s s 4 s s 7 ’ s 12.
4 / 4 7 Ve
/7 / // ,/ 4 / // // 4 // // ,/
4 s s Y 4 /s / V 4 4 s
/ 7/ 7 7 7/ Ve 4 4 /
7 s 7 7 7 , 7 s s’
s 7 , s 7 , / 7 ,
s s V: 7 s , s s v
s s s 7 s y Ve s
) 894 x10= ) 961 x 10 = ) 317 x15=
7 7 7 z s s 7 s s
/ 7 7 ’ / / ’ / /
/ 7 s /s 7 7 ’ ’
s s s / ’ s 7 /s s
7 / s 4 7 7 4 7 7
4 e e 4 / 7 4
s s 7 ,/ s Y s’ ,’ s ,/ ,/ /’
7 , , , 4 V /s v 4 4 /
7 7 , 7 s , 7 7 ,
7 s Y s s , s s ,
7 7 , s / P2 7 7/ ,
s ’ , ’ s , s s ,
7 7 y 7 7 v 7 7

1-10
11-12
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Answer Key

Name:

Lattice 3by 2
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